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133 iwngv AvLZvi 96 94 93 96 95 96 94 94 758 94.75 gy:Avjv 1g

135 BmivZ Rvnvb gvwiqvg 94 93 94 92 95 97 94 97 756 94.5 gy:Avjv 2q

132 eykiv gwb 94 86 95 94 95 91 90 98 743 92.875 gygZvR 3q

138 mvw`qv nvwjgv 96 86 88 86 85 87 84 93 705 88.125 gygZvR 4

136 mvw`qv 87 83 95 84 85 86 89 93 702 87.75 gygZvR 5

137 Gjgv 76 87 85 91 80 88 70 93 670 83.75 gygZvR 6

134 wgZy AvLZvi 92 77 90 86 70 65 82 87 649 81.125 gygZvR 7

144 gymvwÏKv nvweev 93 78 53 85 90 72 67 92 630 78.75 Rv:wR: 8

139 gvwiq AvLZvi 62 92 64 86 80 81 70 88 623 77.875 Rv:wR: 9

151 Avw¤q̂v Avwe`v 50 68 84 85 65 91 82 94 619 77.375 Rv:wR: 10

141 nvdmv AvLZvi 59 86 75 90 49 84 68 95 606 75.75 Rv:wR: 11

166 mvbwR`v 85 70 71 76 75 75 67 87 606 75.75 Rv:wR: 11

143 RvwKqv 74 81 66 70 100 63 63 88 605 75.625 Rv:wR: 12

147 Avwddv 80 78 68 80 70 84 61 84 605 75.625 Rv:wR: 12

154 RvbœvZzj 80 68 65 77 60 84 61 84 579 72.375 Rv:wR: 13

145 wgg nvIjv`vi 58 70 50 67 90 74 70 92 571 71.375 Rv:wR: 13

156 nvdmv 80 75 52 56 94 71 66 75 569 71.125 Rv:wR: 14

152 dvwinv AvLZvi 88 64 56 60 90 56 68 80 562 70.25 Rv:wR: 15

142 ûgvqiv 48 78 73 84 80 52 50 92 557 69.625 Rv:wR: 16

148 BmivZ Rvnvb 72 71 63 73 85 64 58 70 556 69.5 Rv:wR: 17

146 gviædv 70 81 51 78 50 68 58 92 548 68.5 Rv:wR: 18

150 iæevB`v 70 72 64 65 80 64 46 82 543 67.875 Rv:wR: 18

140 iv‡eqv Avdwib 50 71 67 85 50 62 76 81 542 67.75 Rv:wR: 19

164 gwiqg 57 68 60 62 60 70 52 73 502 62.75 Rvwq¨` 20

153 Lvw`RvAvLZvi 40 75 47 77 85 49 46 80 499 62.375 Rvwq¨` 21

155 gvwiqvg AvLZvi 73 73 45 68 65 54 51 70 499 62.375 Rvwq¨` 21

160 mvw`qv AvLZvi 52 80 40 76 80 56 40 64 488 61 Rvwq¨` 22

159 dvwZgv 80 56 44 61 65 51 60 67 484 60.5 Rvwq¨` 23

158 Avdwib 87 51 40 60 75 42 49 73 477 59.625 Rvwq¨` 24

149 mvbwR`v AvLZvi 60 49 40 58 45 86 40 68 446 55.75 Rvwq¨` 25

163 mygvBqv myjZvbv 75 64 40 46 65 42 59 52 443 55.375 Rvwq¨` 26

165 dviRvbv gxg 90 56 40 54 60 44 40 48 432 54 Rvwq¨` 27

157 mvwenv 60 58 48 67 35 70 41 80 459 57.375 gvKeyj 28

161 jvewb AvLZvi 60 47 33 75 70 45 40 42 412 51.5 gvKeyj 29

162 dvwZgv AvLZvi 53 79 40 54 30 66 31 70 423 52.875 ivwme 30

169 Avqkv AvLZvi 92 60 26 40 35 28 13 40 334 41.75 ivwme 31

167 gviwRqv 46 51 27 32 70 40 12 48 326 40.75 ivwme 32

168 nvwdRv AvLZvi 42 41 26 44 19 48 22 50 292 36.5 ivwme 33

cix¶v_©x 38Rb: gy:Avjv 02Rb,gygZvR 05Rb, Rv:wR: 16Rb, Rvwq¨` 09Rb, gvKeyj 02Rb, ivwme 04Rb|

   RvgvZt Be‡Z`vqx 

gy:Avjv=90-100 (cÖ‡Z¨K welq) 

gygZvR=80-89            

Rvwq¨` wRÏvb=65-79     

Rvwq¨`=50-64            

gvKeyj=40-49             

ivwme= 0-39


